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Basic Algebra: PreTest Name:

Each question comes from the same numbered unit in the course.

This PreTest is meant to help assess your strengths and weaknesses, and give you a brief overview of the
course content.

If you don’t know how to do a particular question, leave it blank and move on.
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1b. Find the Lowest Common Denominator (LCD) for the fractions 31 and T
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2a. Simplify 643 - 3-2| e s I o3
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2b. Simplify by removing parentheses and collecting like terms —7(x — 3y® +4) + 3y(4 — 6y).
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3. Solve for z: 32 — 542 =4z — (2: + 8).
3z2-3 = 4222 -%
3e=3=22-%
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q ﬂ =2zX+Yy
4a. Graph y = 2r + 4 on an xy-axis. Ty
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4b. Sketch the region in the xzy-plane that satisfies the inequality 4x — y > 3
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5. Solve the following system of equations 3z —4dy =2 and z +y =1
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6. Simplify by multiplying out and collecting any like terms (4y — 1)(5y° + 2).
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Ta. Factor x? — 32 — 10 into a product of two factors
bj IﬂSch“"}r o) (%r.'aj 8 @rrb’)) :
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7h. Solve 322 4 51 + 2 = 0 by factoring. 3 )(‘t" Sxt2 - 3X a“‘ 3% T 2%+ <
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9b. Rationalize the denominator in ———.
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11a. Solve (42 — 3)? = 36 for . e, f-/X—B: é ol 4X -3 = ’é)
Yx-3=r6 —  Hx=7 yx= -3
_ 9 X =" 3/
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11b. Write down the quadratic formula which gives the solution to az? + br + ¢ = 0.
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12a. What is the Pythagorean Theorem?
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12b. Sketch thel;raph of y = —x2. A4
S
7N
13a. Simplify logy,(0.1). +[n*
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13b. Simplify a? x (2a)?.
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